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LSE-01 

BACHELOR OF SCIENCE (B.Sc.) 

(7) 	 Term-End Examination 
(7) 	

June, 2013 

LIFE SCIENCE 

LSE-01 : CELL BIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any four 

questions from question numbers 2 to 6. Use well labelled 

diagrams wherever necessary. 

1. 	(a) Fill in the blank with appropriate word : 	5 

(i) 	In electron microscopy, a beam of 

electrons is used to obtain minimum 

	 limit. 

(ii) The enzyme 	is present in 

peroxisomes, causing breakdown of 

H202. 

(iii) Transport of two different ion species 

through the same transporter in the 

same direction is called 	 

(iv) Protein digesting enzymes in inactive 

forms are called 

(v) Cyclic AMP and 	ions act 

as secondary messengers in cells. 
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(b) Match the terms given under Column A with 	5 
those given under Column B. 

Column A 	 Column B 
(i) Centriole 	(A) Covalent modulation 
(ii) Autophagy 	(B) Nucleosome 
(iii) Histones 	(C) Lagging strands 
(iv) Protein kinase 	(D) Animal cell 
(v) Okazaki fragments (E) Lysosomes 

	

2. 	Indicate whether the following statements are true 
or false ; give a brief reason for your answer 
(Attempt any five) : 	 5x2=10  

(a) If the pH of a medium decreases from 6 to 
3, the concentration of H+ doubles. 

(b) Protein molecules are most diversified. 

(c) The enzyme PFK (phosphofructo kinase) is 
the main regulatory enzyme of glycolysis. 

(d) Phloem consists of non - nucleated cells. 

(e) Degeneracy of genetic code means 
dysfunctioning of some codons. 

(f) The stratified squamous epithelium plays 
insignificant role in absorption or transport 
of materials. 

	

3. 	Write short notes on any two : 	 2x5=10 
(a) Neurotransmitters 

(b) Cardiac muscles 

(c) Facilitated diffusion 
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4. (a) Briefly describe the structure and function 	5 
of mitochondria. 

(b) Prepare an illustrated note on allosteric 	5 
regulation of enzymes in relation to feedback 
inhibition. 

5. (a) Formation of spindle is important for 	5 

karyokinesis as well as cytokinesis in plant 
cell division. Briefly explain. 

(b) What are neurons ? Classify these on the 	5 

basis of their functions. 

6. (a) Give a schematic representation of Krebs 	5 
Cycle (no description is needed). 

(b) Write a note on sclerenchyma. Also mention 	5 
the differences between fibres and sclerieds. 
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